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1. CSV J 7 1 ILDid+Adr (StatData01_1.csv)

Jupyter Notebook & /z(d Google Colab Zic&hd B,

Google Colab MiH& (. HIED T Google drive DY > hEBFEETH <,

from google.colab import drive
drive. mount (' /content/drive’)

In [1]:

import numpy as np
import pandas as pd
import matplotlib.pyplot as plt

In [2]:

Data=pd. read_csv ("F:/2022_#{32#r 5t #t5m/StatData/StatData01_1. csv”, t JEAHELIEWT7AILDINRA
skiprows=1, # T—32 774 ILDRNDIITERIET
names=[ Weight'1) t hoLBZTTITSD

Data. head ()

Out[2]:

Weight
0 3110
1 3100
3140
3050
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EX RIS LzERR UICERRET,. &R (OOMULEOOXKME. 22 UREBDIERTEOOMULEOOUT) C&E
LTVWBT—YDEHZHMAITNBDDT, TNZRELVTMDEI LI THD. TOREKRTIIHETH DN
REVTRBRAR ULELDS ERD EDUFRINHMND.
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In [3]:

plt. hist (Data,
range= (2000, 4400), # 1E%iEE

bins=12, i R EEE

color="red, t BEIETE

alpha=0. 5, t BOES (0~1)

ec="k') i #EIZREEDT S (k=black)
plt. xticks (np. arange (2000, 4600, 400)) # xEHoO B
plt. yticks (np. arange (0, 31, 5)) # yEho B %
Out[3]:

([Kmatplot!lib.axis. YTick at Ox18ec4bf0af0>,
<matplotlib.axis.YTick at 0x18ec4bf0610>,
<matplotlib. axis.YTick at Ox18ec4be9610>,
<matplotlib. axis.YTick at Ox18ec4eb31f0>,
<matplotlib. axis.YTick at Ox18ec4eb3700>,
<matplotlib. axis.YTick at Ox18ec4eb3c10>,
<matplotlib.axis.YTick at Ox18ec4eb9160>],
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In [4]:

F, W _ = plt.hist(Data[ Weight'], range=(2200, 4200), bins=10, color="red , alpha=0.5, ec="k’)
F, W

Out[4]:

(array([ 2., 5., 12., 10., 26., 21., 13., 6., 2., 3.1,
array ([2200., 2400., 2600., 2800., 3000., 3200., 3400., 3600., 3800.
4000., 4200.1))
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F (SEHOEG. W (IFEROmRAMEDEICRDTND. ES55EFENEREEZRDOT, BHECELT
HITD.

In [5]:

F = F.astype(int)
W = W astype(int)
F, W

Qut[5]:

(array([ 2, 5, 12, 10, 26, 21, 13, 6, 2, 3]),
array ([2200, 2400, 2600, 2800, 3000, 3200, 3400, 3600, 3800, 4000, 4200]))

3. BEHEDTHROIEM

&k [OO-O0] LESHICRRUZL. EDIEHICIE. WDEFIZRWTIEIC 12200 - 24001 2400 -
26001 DX FIEEML T, OEFEFDDIRNCERID. #BEDIBRUNGHDDT, f-string LV
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In [6]:
Class=[f {W[il} - {W[i+1]1} for i in range(0,10)]

Class

Out[6]:

[ 2200 - 2400’
" 2400 - 2600’
'2600 - 2800
'2800 - 3000’
3000 - 3200’
"3200 - 3400’
" 3400 - 3600’
"3600 - 3800’
3800 - 4000’
"4000 - 4200’ ]
In [7]:

i PEHRIE =R RO P RIE
ClassValue = [int (W[i]+W[i+1])/2) for i in range(0,10)]
ClassValue

Out([7]:

[2300, 2500, 2700, 2900, 3100, 3300, 3500, 3700, 3900, 4100]

#4 UJz Class, ClassValue, F 15 /&9 BDataFramez £k L LS,

In [8]:

t EMOTmx PFERIEEER)
FTable = pd.DataFrame ({ [£#k’ :Class, '[E#R{E’ :ClassValue, ' E#t :F})
FTable

Out[8]:

PEAR  PEARIE EEE

0 2200-2400 2300 2
1 2400-2600 2500 5
2600 -2800 2700 12
2800 - 3000 2900 10
3000-3200 3100 26
3200-3400 3300 21
3400 -3600 3500 13
3600 -3800 3700 6
3800 -4000 3900 2
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FOERENMRZE E(CHEIEEDE - BEREZRDKS.

BLzBIRC x & fICTD,

In [9]:

FT = FTable. rename (columns={’

FT

Out[9]:
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In [10]:

FTOxf'] = FT['x' 1 * FT[' ']

FTO x"2f°] = FT[ x" I**2 % FT[ ']

FT

Out[10]:

[0 x f xf xA2f

0 2200-2400 2300 2 4600 10580000
1 2400-2600 2500 5 12500 31250000
2 2600-2800 2700 12 32400 87480000
3 2800-3000 2900 10 29000 84100000
4 3000-3200 3100 26 80600 249860000
5 3200-3400 3300 21 69300 228690000
6 3400-3600 3500 13 45500 159250000
7 3600-3800 3700 6 22200 82140000
8 3800-4000 3900 2 7800 30420000
9 4000-4200 4100 3 12300 50430000
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In [11]:

#t BRHOSLOBMZESE

size = FT['f' 1. sum() #f o
sum_xf = FT[ xf'].sum() # xf ORI
sum_xxf = FT[ x"2f" 1.sum() # x"2f O#F0
size, sum_xf, sum_xxf t ThEnDOERT

Out[11]:
(100, 316200, 1014200000)

In [12]:

mean = sum_xf / size # FfE

mean2 = sum_xxf / size # T—H{ED2FEDFHIE
variance = mean2 - meanx*2 # SEL(HDEIARKIZL D)
std = np.sgrt(variance) 1 IE#RE

mean, variance, np.round(std, 1)

Out[12]:
(3162.0, 143756.0, 379.2)

EF-INSEHZBEULTIE. D8 BERELLBELTEIS.

In [13]:

np. round (np. mean (Data[ Weight' 1), 1), ¥
np. round (np. var (Datal[ Weight' 1), 1), ¥
np. round (np. std (Datal[ Weight' 1), 1)

Out[13]:
(3160. 2, 143912.0, 379.4)
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In [14]:

plt. figure(figsize=(8,5)) # HEITYUT7ORES (TIHILEKE 6,4 THDH)
plt.bar (FT[ x' ], FT[' '], #BI57 (EEEMEOEREFETE)

width=200, t HDiE

color="violet’

ec="k')

plt. xticks (np. arange (2000, 4400, 200))
plt. yticks (np. arange (0, 35, 5))
plt.show() # tHT—2&RTET. FT TDHKRT
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In [15]:

plt. figure(figsize=(8,5)) # HEITYUT7ORES (TIHILEKE 6,4 THDH)
plt.bar FT[ x' 1, FT[ '], #BI57 (EEEMEOEREFETE)

width=200, # EoiE

color="violet’

ec="k')
plt.plot FT'x'], FT[' f' 1, color="green’) RIS

plt. xticks (np. arange (2000, 4400, 200))

plt. yticks (np. arange (0, 35, 5))
plt.show() # FHET—2%&FRFET. 5 TDHETR
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